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FIFTH SEMESTER
COMPUTER SCIENCE AND ENGINEERING
¢S 51 — SOFTWARE EN GINEERING
(REGULATIONS 2008)

Time : Three hours Maximum : 100 marks

Answer ALL questions,

PART A —(10x2=20 marks)

What are the problems arises during the verification and
validation of real time system?

What type of process adaptation is required if the
prototype is evolving into a deliverable system or product?

Differentiate functional and non-functional system.

Where it is necessary to differentiate the requirement
definition from requirement specification?

Assess the role of refinement in software design.
Define user interface design.

If you could only select three test case design methods to
apply during unit testing, what would they be and why?




[image: image2.png]How can project scheduling affect integration test?
State ZIPF's law.
List the different types of risks occur in SPM.

PART B — (5 x 16 = 80 marks)

(a) Elaborate a software process model that couples the
iterative nature of prototyping with the controlled
and systematic aspect of the waterfall model. (16)

Or
() () Discuss the three different architectures
designed in Business Process Engineering.

Explain it with necessary sketch. (10)

(i) Define the goal of product engineering. Explain
with the hierarchy. (6)

(@) () Classify the non-functional requirements.

Elaborate it with neat sketch. (10)
(i) Differentiate evolving prototyping and throw
away prototyping. ©)

Or

() () Discuss the problem occurs in natural
language and explain how it can be solved and
the ambiguity can be reduced. (10)

(ii) Discuss the different techniques which have
been used for system prototyping. )
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with neat sketch. (16)

Or

(b) What are the advantages of flow oriented modeling?
Explain with necessary diagrams. (16)

(a) Explain in detail about basis path testing and find
the cyclometric complexity for the following :

Procedure: sort
Do while records remain
Read record:
If record field 1=0
Then process record;
Store in bufter;
Increment counter;
Else if record tield 2=0
Then reset counter:
Else process record;
Store in file;
End if
End if
Ends do
End do
End (16)

Or

(b) Explain strategic approach to software testing with
neat diagram. (16)

;




[image: image4.png]@ () Apply the basic COCOMO mode] to the lines of
code figures in Table 1.1 to generate the
estimated work months of effort, assuming an
organic mode (C=2.4, K=1.05). Compare the

calculated figures with the actual. (8)
Project | Design (wm) | SLOC
A 3.9 6050
B 2.7 7000
Cc 3.5 5942
Table 1.1

(i) Consider the details held about the developed
software modules shown in the Table 1.2 given

below :
Entity types
Module | Inputs accessed Outputs | Days
A 1 2 10 2.60
B 10 2 1 3.90
[ 5 1 1 1.83
D 2 3 11 3.50
E 1 3 20 4.30
Table 1.2
Calculate the Function point for each module.
Use the given values Wi=0.58, We=1.66 and
Wo0=0.26. Which of the modules A to E is the
closest analogy in terms of Euclidean distance?
(10)
Or
®) () Explain the steps involved in risk management
in detail. &)
(i) How does project planming, monitoring and
development managed? (8)





